O-5 parts list.pdf

Part Parts
No. Per Kit

Resistors
0124
014
SW12
G12
011
FM36
A10
012
K34
018
o117
010
G18
0116
019
0113

= e DD =T e R DD e DD R

Condensers

o117
TS36
0118
024
025
049
G23
0115
0119
096
Controls
058
059
056
0112
S15
Switches
0111
094
095
G59
Tubes--La
066
T38
G44
087

039

DO DD D) R O D O e

RN e

1

0O-5 OSCILLOSCOPE PARTS LIST

Description

10 Ohm

470 Ohm

1,000 Ohm

5,600 Ohm

10,000 Ohm

27,000 Ohm
47,000-51,000 Ohm
100,000 Ohm

220,000 Ohm
470,000 Ohm

1 Megohm

3.3 Megohm
47,000-51,000 Ohm 1 W.
4,700-6,00 Ohm 2 W.
100,000 Ohm 2 W.
470,000 Ohm 2 W.

100 MMF Mica or Cer.
680 MMF Ceramic

6800 MMF (.0068 MFD)
.01 MFD Paper Tub.

.02 MFD Paper Tub.

.1 MFD Paper Tub.
.2-.25 MFD Paper Tub.
.5 MFD Paper Tub.

1 MFD @ 1,000 V. Metal
20-20-20 MFD Elect.

100,000 Ohm
250,000 Ohm

1 Megohm

.25 11 Megohm dual
4 Megohm dual

4P. 5 Pos. Rotary
SPST Slide
SPDT Slide
DPDT Slide

5Y3 GT tubes

6SH7 or 6SHT GT tubes
6SN7 GT tube

5BP1, 5BP4or 5GP1
(CR tube)

#47 pilot lamp

Sockets--Terminal Strips

054
043
055
047

Page 12

7

7
1
1

Octal Sockets
Socket Rings
CR tube Socket
CR Socket Ring

Sunday, November 25, 2018

Description

1 Lug Terminal Strip
2 Lug Terminal Strip
3 Lug Terminal Strip
4 Lug Terminal Strip

Nut
Bushing
Jewel
Socket

Pointer Knobs
Binding Posts

Red Banana Jack
Banana Jack Insert

6-32 x " screws

8-32 X 3" screws

10-24 x §* Handle screws
#6 x 2" Sheet Metal screws
6-32 nuts

8-32 nuts

Control nuts

#6 lockwashers

Control Lockwashers
Nickel washers

Fibre Shoulder washers
Fibre Flat washer

Solder lugs

Part Parts
No. Per Kit
038 2
S32 2
SW317 2
0114 2
Pilot Light Assembly
040 1
041 1
042 1
052 1
Knobs--Terminals
051 9
048 6
VTTR 1
M28 1
Nuts--Bolts--Washers
031 36
G52 4
030 2
0102 4
S22 42
TP16 4
033 9
TS72 36
0101 9
028 9
026 4
027 4
037 T
044 1

Sheet Metal Parts

085B
086B
O65L
O65R
Q70
O8CA
0106A
0110
088
079
Miscellane

072
G40
063
082
034
035
036
Q78
o7
081

u

e i o S e o R S SO SFay SO W Gy S Y

n

Speednut for Jack

Chassis

Panel

Panel Bracket

Panel Bracket

CR tube Bracket

CR tube Panel Ring

CR tube Shield Brackets
CR tube Shield

Cabinet

Handle

Power Transformer (S122)
Condenser Mtg. Wafer
Fuse Block set

Grid Screen

Rubber Feet

¥ Grommet

+* Grommet

Line Cord

Length Hookup Wire
Length Spaghetti

Page 1



